
 

 

ОБРАЗЕЦ 

Лексико-грамматическая работа  

1. Выберите подходящее по смыслу слово 

1) The heart can be thought of as two separated … . 

A) pumps B) chambers  C) auricles  D) ventricles 

2) The walls of the arteries are less … for fluid. 

A) permeable B) transparent  C) tiny  D) close 

3) The woman’s heart … 6 or 8 times a minute faster than that of the man. 

A) pumps  B) circulates  C) dilates  D) beats 

4) From the left heart the well-oxygenated blood is pumped into the largest artery called the … . 

A) vein  B) aorta  C) atrium  D) ventricle 

2. Вставьте соответствующий  предлог 

1) The two blood streams do not readily mix in the ventricle … the muscular meshwork within the cavity. 

A) for  B) of  C)  from D) because of 

2) Phlebitis is … some infection. 

A) from  B) due to C) to  D) for 

3) … comparison to arteries veins are relatively immune to disease. 

A) In  B) As C) With  D) From 

4) According … the structure and functions all muscles are divided into certain types. 

A) …  B) to  C) with  D) at 

3. Выберите соответствующую форму слова 

1) The cardiovascular system is the system of blood … . 

A) circle B) circulatory  C) circulation  D) circulate 

2) The walls of the veins are … than the walls of the capillaries. 

A) permeable  B) more permeable  C) less permeable  D) most permeable 

3) The aorta is the … artery which distributes the blood throughout the body. 

A) larger  B) largest  C) large  D) most largest 

4) The valves … the chambers of the heart. 

A)  separatory  B) separating  C) separation  D) separate 

4. Закончите предложения, выбрав соответствующую форму глагола  

1) … an infectious disease? 

A) Have you had ever  B) You have ever had C) Have you ever had  D) Have had you ever 

2) Her temperature … to normal before the doctor came. 

A) returned B) had returned  C) has returned D) returns 

3) At the same time CO2  … out of the blood into the lungs and exhaled.  

A) is diffused  B) is being diffused   C) diffuse   D) has diffused 

4) The doctor … the patient’s heart by the time she felt worse. 

A) had already examined B) already had examined  C) had examined already  D) already examined 

5) We … to study the structure of the human body last week. 

A) began B) have begun  C) begin  D) will begin 

6) … the work by 6 p.m. tomorrow? 

A) Will you have finished  B) Will you finished C) Have you finished  D) Have you will finish 

7) The muscles … due to stimulation. 

A) is contracting  B) are contracting  C) contracts  D) contracting 

8) We … the structure of the human heart for the whole lesson tomorrow. 

A) study  B) studying  C) shall be studying D) studies 
5. Найдите пары синонимов 

1) auricle a) chest 

2) dorsal b) minute 

3) tiny c) atrium 

4) thorax d) spinal 

5) woman e) female 

6. Найдите пары антонимов 

1) upward a) posterior 

2) large b) downward 

3) anterior c) thick 

4) thin d) exhale 



 

 

5) inhale e) minute 

7. Выберите правильный перевод предложения 

1) The blood is forced into the arteries because of the contraction of the heart. 

A) Кровь проталкивается в артерии, так как сердце сокращается. 

B) Кровь проталкивается в артерии из-за сокращений сердца. 

C) Кровь форсирует артерии, из-за сокращений сердца. 

D) Кровь проталкивается артериями, при этом сердце сокращается. 

2) The heart beats were weak. 

A) Сердце бьется очень слабо. 

B) Слабое сердце бьется неровно. 

C) Сердце билось, но было очень слабым. 

D) Сердечные сокращения были слабыми. 

3) The temperature decrease results in a slower heart rate. 

A) Температура понижается в результате замедления частоты сердечных сокращений. 

B) Снижение температуры приводит к более медленной частоте сердечных сокращений. 

C) Результатом замедления частоты сердечных сокращений является снижение температуры. 

D) Снижение температуры происходит из-за снижения частоты сердечных сокращений. 

4) There are a number of movable bones in the skull. 

A) Много подвижных костей есть в черепе. 

B) В черепе имеется несколько подвижных костей. 

C) Номера подвижных костей зафиксированы в черепе. 

D) Череп состоит из ряда подвижных костей. 

5) The fibers of cardiac muscle have neither a beginning nor an end. 

A) Волокна сердечной мышцы бесконечны. 

B) Волокна сердечной мышцы имеют либо начало либо конец. 

C) В волокнах сердечной мышцы есть и начало и конец. 

D) В волокнах сердечной мышцы нет ни начала ни  конца. 

8. Переведите словосочетания, указанные в скобках на английский язык 

1) We do not control smooth and (сердечные мышцы). 

2) Capillaries are (мелкие сосуды) which form a close network all over the body. 

3) The walls of capillaries are so thin that dissolved (питательные вещества) can pass through them. 

4) The movement of air into the lungs is brought about by the increase in the volume of the (грудной) cavity.  

5) The most important part of the skeleton is the (позвоночник). 

6) The bones of the head include the (череп) and freely movable bone which forms  the lower jaw. 

7) The cardiovascular system includes the pulmonary  and systemic (кровообращение). 

8) The (предсердия) act as receiving chambers for blood. 

9. Используя словообразовательные элементы (in-, -ation, -y, -ly, -ous, en-, -ar), образуйте подходящие 

по смыслу производные от слов, данных в скобках, выполняя орфографические изменения, где 

необходимо: 

1) (circle) precapillary sphincter  2) to differ (function) 

3) (voluntary) response 4) to (close) nucleoli 

5) (bone) framework 6) at the time of (expire)  

7) (vein)  system  

 

https://en.wikipedia.org/wiki/Pulmonary_circulation

